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Paper : GE-4.1

( Indian Economy—II )

I-WWWWW: 1x8=8
Answer the following as directed :
(@) SAST 355D toq T SIAfeT e | @ean

g5 FrECEE AR TE ey I
al reform measure

tion any one fisc
Mentio y 1991,

of India’s New Economic Policy,
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(3)

(@ WTO-33R FeH el o T LY

WTO . agreement on

When Wwas
agriculture started functioning?
(i) 3555 T ‘
© 1901°
(i) 5539
1993
(i) S5>8
1994
iv) Sed¢
1995
(r0% ah FRIE F1)
| (Choose the correct answer)
() MSME-S ol Fercor 1
Write the full form of MSME.

2. wﬁ@mmﬁﬁﬁeﬂa@v{mm(m
ygo 1 o) : ' 4x4=16
Write short notes on any four of the following

ds each) :

(within 150 wor

(@) ¥ s g1 g [

RS
Monetary reforms of the New Economic
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(b) SR
A PR TR TEE e Rq
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ain features of try de

ost- . s
Post-economic reform p Policies during

el».iod’of India.

IR
Agricultu A S 8
initiativ ral. markeﬁng .
e to improve jt : ";Gov‘»emment
(d) ermi
B m
RiNeaey

‘Foreign -in
mve
sector L entin the Ing
. ustrial

(e) SRH wF o
Reite e

India and World Ty ade o P
TRanizy,
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BRI '
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IR GF SRR GRS 37 = Ny e
s Vg o R
Wh -
at are the i '
3 “ge Ob e i 6+ N
‘f;?pqnslbmty and_Bud;e:tI\;:Z of hig 12
1 { 1
soujrrldsﬂ :‘ZBM Act regarded a:g t;me’!t :zal
cal management? Give reae 0o ft?
SOQS Or

( Cony
onwliled )

(5)

o9 /Or
com e O T fat
Whether ' reform in trade policy benefited
Indian economy? Give 1€ ons in support of

your answer. o 7 S

e faee ?
- 12

4. eﬁwm@wwmmﬁlwu 11
Discuss the role of technology in Indian

agriculture sector- .
- e[ /Or

Wﬂ'@‘m@ﬁﬁmﬁ?fiﬁ?ﬁuﬁﬁ@wa?
m&ﬁmWWWIWEﬁﬂTW
‘ﬂ’iﬁﬂﬁ{iﬂnﬁﬂ I ' 1+4+6=11
‘Who is called as the father of Green
Revolution in India? Mention the objectives of
this Revolution. Discuss its merits and

demerits. ‘

AT SISl SIACET | 11
critically the disinvestment

Discuss
govm‘nment of India.

policy of

)
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5241/ Or

ST / Or i

4 e
s @Qﬁﬁﬂ—@@
(b) babswﬁﬁm\%ﬁ@%@zmaq@q Al

:ce sector in Indian
TPer M= 2 MR Tevq eforo Explain the role of service
? Xp

economy-

11
What is trade in Services?

Discussg the
of WTO in India’s trade

and S€rviceg,
S2=T / Or

TS AFW omaSare S
CTT-M&AT “IRTNe Rore Ry m@jﬁwm

|
Discuss the balance of Paymentg pOSition ;
o

India during post-reform period.

impact

7. TS WS, S555F Ay Al e

- ik 1 vt \-ﬂ‘i%
ORI o 490 ARTET SNfeicercs o oy e
Ao (& SRCGRT |
Highlight the main feature of I dhstﬁ 11
Policy, 1991. Whether this policy brOUgh al
changes to industrial sector of Indign ai?,y
reasons in support of your answer, e
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Econom |
icH
o istory of India (1857104 ]
. s o
P o fogy /9% T qrfs oy
Answer -
follow; /'(?hoose g "
Y orrect option of th
n of the
(@) oA
il I
i “"ﬂ?@z TS SRSy ST Sz
- &
How
a
Pre-Inde it Lonomj
- Omic iti
) Txe ent India» Sondition. o
| Developed
(i) Sgrs
U

One ;
im
rt during f;lortant feature of
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( Contineq )

(9)

(¢ =@ e T2

What do you mean by urbanization?

(@ R e
What is agriculture commercialization?

(e) e TR @ 7

What is meant by capitalist?

@qﬁaﬁa‘eﬁww@ﬁmqﬁs?

What is the reason of underdevelopment

in the colonial India?

mﬁﬁ@{awqﬁﬁﬁ'{m?

(9)
hat do you mean by foreign capital?

W

(M) e Ao 2

What is fiscal policy?
5y Gl o (R @ i) AsA=16

Write short notes on (any four) :

(a) FofS %
Drain theory
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( 10)
b) SfEPs sre
. e : o}/ Or
Pov ; :
erty in colonial Indja (b) TR S TR ALAF SR 3 90
. 6+5=11
() SRey Explain the economic idea of Ranade
R 91 3 and Gandhi. |
Agri : .
gricultural creg;t system in Indi 4. (o) wOw oW 2 SRS o S S
‘ ; in India SF S5 SeEnl 90 1+10=11
(d) SROY Trman v What is national income? Discuss the
. . RRTRR R trend and composition of national
C&thljla] Pattern of [, income in India. ,
. an industries | W/ Or
& ol | (b)wmmﬂﬁwwqmwﬁm
Forej e 991 ‘ : 11
181 Capita] | Discuss the size and growth rate of
population in India.
ST SRR By . 5. (a) QP oRwe FRES TH T T
N (4R ¢ g £ o ST T | TR CRETR SaE
Answer the follgws TR ): ' M 8+3=11
words each) : Wing Questiong 1. Discuss the agricultural marketing in
(Within 500 colonial India. Mention its defects.
3 Oor
(@) Pz g - w331 /
F ! %hﬂwm | (b) ﬂmmmqﬁﬂﬁ{ﬁl?mwmﬂwq
Explain the ¢ | o R S 2+9=11
colonial In dia."Onomici charact . 11 What do you mean by rural
€ristics of 1ndebtedneSS? Discuss the causes of
24P/1340 cural indebtedness and consequences.
é’ iDL .
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(13 )

6 (@) Sifiwfy
SR
i) D
Paper : GE-4.3

( Public Finance )

Explain
) the tr
::?:(Iius-mal SeCtorend and pattern of
< onial Ingiq Wh development in the 1. oo opeARd ved i 1x8=8
nsatisfact ' at are th X ’
i € reas f Answer the following questions =
industrig Ty perform ons for
Sector? ance of India’s
7y (@ R REI RS |
(b) &= 5 /Or Define public finance:
"I *ifiqg
ki TSRS ot (b)) Reow e @ R
; STCToT 2y T W : i
Discuss ¢, ' 2 What is pure public good?
1
(c) e AR 51 Tz
tive externality.

portati € dev
ation ang g ;o OPWeNt of ¢,
ans-

Cton railways and Give an examplé of nega

(d) TR e T &2
What is incidence of tax?

7. (@) S
ﬁr[ﬁm“;:rmww

Ro1ow
An ?
Col:g:j the Compog;y; A 11 (e) TH SfefRe @@ e @2
1 f o) .
India’s foreig: rtlrand dire What is excess burden of tax?
Ction of
R /OF N
() CGSTH vl
EISE] R Write down the full form of CGST.
SICEATSAT 3547 | Pty .
Discuss the extent i (9) ey A <6l Sy TeEd 90
capital in the c010nia1(§n d_pact of ¢ 6+5=11 Mention one objective of fiscal policy-
13, Ql‘ei
gn
2 i
24P/134 () o @ T R
e ( What is black money?
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2. R R @ ofer eoiqe SRCHT
seo R oo L e o :.x4=16

Write short note‘s on an
rite y four of th i
(within 150 words each) : © foflowing

(@) CRID TR TR

Conditions of Pareto efficiency

(b) T& SERI Sy

Free rider problem

(c) ¥R g ‘

The Coase theorem

. “,
TR AN Py TN FH
Forwar:ﬁ — - q |
and backwarg shifting of tax
() RfE> Ma shae
Role of monetary Ppolicy

@

3. R PIARR Tag fora (m Qoo #gg %G?@) .
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1 /Or

(b) PRI GRS, RoIT a* R IR

4. (a)

(b)

5. (a)

24P/1340

SICEADAT P71

Discuss the allocation, distribution and
stabilization functions of Government.

. YR I I A G oAl
L2l

Discuss the Samﬁelson’s benefit thedry
of public expenditure.

%37 /Or

eI GIN CAPERAR IR AR I
o WA CFqe 9N RE @@ I off
SR 7 Fiee Tese Ifeee Tl w1

Explain the features of public good citing
example. Do you think that the market
fail in case of public good? Justify your
answer.

74 TAEAT GIF o SRS Aol
(AR IR, SO 47 |

Discuss the factors affecting shifting and
incidence of taxation.

14

14
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%<1 / @r

(o) | AAABOR wWR W aTobn @S
%WWWWWW'WJ. 7+7=14

~

Explain ‘the incidence of factor taxes

under perfectly competitive market and
monopoly market.

6. (a)° W@ﬁwwmﬁwﬁ%ﬁmn 14

Find out the defects of Indian tax system.

%31 /Or

() W@WWWW
1

Discuss the principles of fiscal
federallsm n India,
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4 SEM TDC GERC (CBCS)
0
04pP—3500/134 41/40/43




